Chapter 14 Time Value of Money
Answer 1
FV = $100 × (1 + 12%/4)4x8 = $257.51

Answer 2
a.
Three years simple interest = $100 × 8% × 3 years = $24
Total investment = $100 + $24 = $124

b.
By compound interest:

Total investment = $100 × (1 + 8%)3 = $125.97
Answer 3
a.
Value of shares = $10,000 × (1 + 5%)20 = $26,532.98
b.
Value of shares = $10,000 × (1 + 15%)20 = $163,665.37
Answer 4
a.
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Answer 5
$8,950 = $5,000 × (1 + r%)10
r% = 6%
Answer 6
EAR = 
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Answer 7
a.
PV = 
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Answer 8
PV = 
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EAR = 
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Answer 9
PV of the annuity = $800 × 5.889 = $4,711.20
Because the PV of annuity $4,711.20 < $4,800, it’s not worth to buy the annuity.
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